Adda247 ETN oty

Professional

. : MPPEB 2021
6 examination KKR-Reports
board
View Challenged Items/Readt vy & View Report View QP View Candidate Responce View Candidate Question Moderator loggedin.[ Logout ]
Print
Testdate 11-Dec-2021
TestSlot Shift1 v
Submit

Q.No: 1

2413591 Approximately, what fraction of total workforce of India is engaged in agricultural and allied sector activities?

URD & $ HHETH ST WIHT a1 e Hi ok I@ Tafda & o) wfafafed & eriwa 82

42%
A

42%

55%
B

55%

65%
C

65%

75%
D

75%

Correct Ans : B

Q.No: 2
2413592 Approximately, what fraction of India's Gross Value Added (GVA) for the year 2019-20 is contributed by Agriculture and Allied Activities?

¥ 2019-20 F YRA F AR THd Ted (SATT) F T b 31 BT e P IR ST Fafdr fafafiat gr faam mar &2

18%

18%

24%

24%

16%

16%

21%
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21%

Correct Ans : A

Q.No: 3
2413593 Approximately, what is the total food grain production in India currently?

AT B URT BT G TTEITH IATGH TTHT faar 82

296 million tonnes

A

296 fafems a1

332 million tonnes
B

332 A es

220 million tonnes
C

220 fafE e

220 million tonnes
D

220 U e

Correct Ans : A

Q.No: 4
2413594 What is the rank of India in fruit production?

Bl I H YRA 59 RM R 82

Second

First

Third

Gi:ndd

Fourth

T

Correct Ans : A

Q.No: 5
2413596 Agriculture, Irrigation and Power Projects were given highest priority in which among the following plans?
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<71 for drer & Y, R oIk Figge aReerIel 31 wafer et & 2

First Five Year Plan

A

wu Yeadia gieEr

Second Five Year Plan
B

o vaadfa @

Third Five Year Plan
C

st i gien

Fourth Five Year Plan

D

et G g

Correct Ans : A

Q.No: 6
2413597 Which among the following is the largest source of irrigation in India, apart from rains?

qui P 3fATal 390 § B 1 YR H R &1 9o 21 9id 82

Tube- wells

A

ESEQ

Canals
B

T

Rivers
C

Afeai

Tanks
D

GIGICH

Correct Ans : A

Q.No: 7
2413599 Which among the following is most important for agricultural productivity?

B JaTehar & o 570 A 7 I oifie Heeyul @2
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Irrigation
A

R

Rainfall
B

auf

Seeds
(o]

Cic

Fertilizer
D

IdF

Correct Ans : C

Q.No: 8
2413602 Which among the following fertilizers is least likely to affect the Soil pH?

Frofafea & 9 fow sive & Mg & diva &1 7vifd $37 3 1 FHIET Bl 82

Urea
A

Rock Phosphate
B

AP Bidbe

Ammonia
C

SiferT

Muriate of potash
D

e e der

Correct Ans : D

Q.No: 9
2413609 In which year, the Antyodaya Anna Yojana was launched to provide highly subsidized food to millions of the poorest families

aral e oRart B srcafdies Rarad arar Ui Iuasy W & o1 siclied o Ao frg af I &t 18 off

1998

1998
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2000
B

2000

2004
C

2004

2006
D

2006

Correct Ans : B

Q.No: 10
2413610 What is the amount of food grains given to each poor family per month under the targeted public distribution system?

e grdwiAe faaRu gl & siarfd Tl TRe URaR & ufdArg b @ fear Siar 82

40 kg
A

40 foar

35 kg
B

35 frar

20 kg
C

20 et

30 kg
D

30 frar

Correct Ans : B

Q.No: 11
2415300 In geology loss of soluble substances, minerals and organic colloids from the top layer of soil by percolating precipitation is called

A & RE®R 3@AU0 gRI HaT $1 SO W & geriia gardl Wie qu1 Srdie Bidigs) @ gl eeard &

Deposition
A
Fraor
Porosity
B

[T
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Leaching
C
wifT
Adsorbtion
D
Sffir=ior

Correct Ans : C

Q.No: 12
2415301 The T value (soil loss tolerance) refers to for a specific soil.

TAg (T weshen) ) Gehfa evar 1

soil loss by wind erosion is tolerable

A
T ¥ U ¥ a1 F1F Wea 3
the annual soil loss by water and wind erosion that a particular soil can tolerate without degrading its long-term
productivity
B
Ut 3R 79T F SRS | aIE HaT B T N v faRia Her sru wiiere Iargdmar Y $H Y fomn we o) gwd 3
soil loss by water can be tolerated by water quality standards
C
Tt & HeT P 7 B I U1 HAED] GRT GG fhAT S HhdT §
the tension between soil particles are held and resist erosive forces
D

TSl & HUil & S 919 91 8T € SR &RUBT Tal BT faviy war

Correct Ans : B

Q.No: 13
2415302 Displacement of upper layer of soil from one place to another and is a form of soil degradation is called

IR el &1 T W I g VM W R0 ¢k ge1 FHfiervr &1 16 S Fgard @

Soil fertility
A

e B Idvar

Soil porosity
B

TaT TSl

Soil erosion
(o]

Hal 3R
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Soil pollution

HaT uguu

Correct Ans : C

Q.No: 14
2415303 Soil layer that is rich in iron oxide and derived from rocks weathering under oxidizing and leaching conditions-

B @ 1T el SR o uRRRufdr & sruer wgl @ ure it 8 ok dig sifags A W Bt B-

Regur soil
A

TR &

Alluvial soil
B

el Tal

Clay soil
C

frgt e

Lateritic
D

Aeffes

Correct Ans : D

Q.No: 15
2415304 Monocropping depletes quality of soil whereas Rotation of crop is essential for

AT & HeT &} Tura & HHT STt § T B BT A0 HITD 8-

Improve fertility of soil and reduces erosion

A
Tl Bt Iavar § GUR 3R Ferd B HH Bl §
Increasing quality of grains but decreases yield
B
STST P} T[T Tedt § AfbT IuS He ot B
Different kinds of crops can be grown in same field
C
TP & @ § AT TR Ft Bad IS & gl
To plough various types of crops
D

fafira TR #Y Baal F Jars FE & Riw

Correct Ans : A
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Q.No: 16
2415305 The reddish colour of Red soils develops due to

TS Gl &1 ard P HRU IR gl §

Sewage disposal

A
Wt Fraer
Leaching process
B
Fremer wforan
Monsoon activity
C
G Tfafafd
Wide diffusion of iron in crystalline and metamorphic rocks
D

forreeiia 3R wrTaid agl # @it T ue TR

Correct Ans : D

Q.No: 17
2415306 Which factor is related to physical and chemical conditions of soil-

DI W RS I BT Hifde 3R Ime Rl § Jefte 8-

T factors
A
& RS
Geological factors
B
WIS PRS
Biotic factors
C
IR® PRE
Edaphic factors
D

P® RS

Correct Ans : D

Q.No: 18
2415308 The important feature of shifting cultivation is

MR PV B Heayul e § o 3-
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Cultivation by transplantation

A
YRl GRT @elt
Cultivation of Leguminous crops
B
Tag-t Bual 1 Qe
Change of cultivation site
(o}
Tt wa F1 afkad=
Rotating of crops
D

HIal BT ASE

Correct Ans : C

Q.No: 19
2415310 What is used to Reclamation of wastelands into agricultural lands?

TR Y B B yfY § ean & R b IugnT fear S 3-

Check dams

A
A6 Ty
Water purifier
B
It Y[ A 9T I
Rain harvesters
C
Tuf grdwex
Gradonies
D
PEIEic]

Correct Ans : D

Q.No: 20
2415314 Organic agriculture is an agricultural approach that advocates healthy products and avoid use of

Sy T T PN =BT § S TR IS B TP BT 7 AR ¥ TN  FE=ET ]

Bio fertilizer

e @
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Biological control agents for disease

B

MM F e Sfaw o geie

Modern technologies in harvesting and collection
C

BHA $eTs R IUE F sy wenfie fear

Chemical fertilizers and chemical pesticides
D

IS SIS R IMANS Bleawe

Correct Ans : D

Q.No: 21
2415501 Recovery phase or transplanting shock of transplanted rice is around

URRING 1 &) Repas) a1 erawiifen Qe e feaw el & gar &

2 - 4 days
A

2-4afF

4 - 10 days
B

4-10f=

10 - 15 days
C

10-15fF

15 - 20 days
D

15 - 20 f&A

Correct Ans : B

Q.No: 22
2415502 Days required for rice seedlings to transplant under dapog nursery is

S0 A F 4 & el B ufaRuw & iU sawae o g @

10
A

10

14
B

14
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21
C

21

28
D

28

Correct Ans : B

Q.No: 23
2415503 Number of leaves considered as optimum for transplanting rice seedlings is

TRRITT B3 & T o & Delf & uRRrdt B fpat Tem Iuged A S B

1-2
A

1-2

2-3
B

2-3

3-4
C

3-4

4-5
D

4-5

Correct Ans : D

Q.No: 24
2415504 Successful traditional Basmati Rice cultivation lies on exposing of stage to cool temperature
U P THA URUNG Tt § AT S ATTHH H HA TR SR Bl 3
Seedling
A
P
Tillering
B
Grain filling
(o]

U e
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Panicle Initiation

i sH=meRE

Correct Ans : C

Q.No: 25
2415505 Growth regulator used in hybrid rice seed production programme is

T % YR oS B e F TG WY TR Bl §

NAA
A

NAA
B

Cccc
C

CccC

ABA
D

ABA

Correct Ans : B

Q.No: 26
2415506 Optimum days old seedlings required for transplanting for early and medium duration rice seedlings is

AR SR Term Sfafdy & T 1 IS & T Iuged Sa=aes Uy fvae =T &1 it &

25 -30
A

25 -30

30-40
B

30-40

40 - 50
C

40 - 50

10-20
D

10-20

Correct Ans : A
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Q.No: 27
2415507 Khaira Disease of rice is due to the deficiency of

Y o BRI I fHgp! HH & SR ST 872

N (FTTEgrer)

Zn

Zn (ST¥dT)

Fe

Fe (gn)

B (3R1)

Correct Ans : B

Q.No: 28
2415515 Percentage area share of Triticum aestivum in wheat cultivation in India is

URD B g Bt T H R2FHT vedlan & TR &1 &7 ufawa A fpan §

12
A

12

60
B

60

69
C

69

87
D

87

Correct Ans : D

Q.No: 29
2415523 Average maize yield in India is

YRA § HdhT B 3N9d IUS §
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1t/ha

A
1 T/TRRW
2.5t/ha

B
2.5 TI/FRW
1.8 t/ha

C
1.8 T/TRW
4 t/ha

D
4 TT/TRW

Correct Ans : C

Q.No: 30
2415531 Best suited temperature for bajra cultivation is

TR BT Tl F N T8 Iugad auHH §

Correct Ans : B

Q.No: 31
2417172 The combination of crop production and milk production activities is an example of:

T Ide AR g IaTe TAffE o7 YoM T 3T’ 3:

Competitive

wereagf
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Complementary

B

ST

Supplementary
C

IRD

Competitive and Supplementary
D

wfoeae iR sR®

Correct Ans : B

Q.No: 32
2417173 Maximum profit is obtained at the point, where:

ey TH 39 ffg R U g ], e

MP = AP
A

MP = AP

MP < AP
B

MP < AP

MP > AP
C

MP > AP

MP increasing and AP decreasing
D

HHid IATG(MP) P TR 3N RId IAUTE (AP) B TeTHR

Correct Ans : D

Q.No: 33
2417177 Which of the following is a management decision ?

fafafad # @ o9 e gt Fofg 32

Level of resource use

AT ITUNT BT TR

Selection of least cost

HY § HH ARTd BT 999
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Enterprise mix

Jew frgor

Total Farming

T Wt

Correct Ans : C

Q.No: 34
2417179 Short term loans to farmers are mainly given for the purchase of:

frarl & ereuasdliv B ger wu ¥ FofifEa o @de F o far wm ?:

Pump set
A
g de
Seed
B
Ciic|
Heavy machinery
C
YR =i
Bullock
D
quf

Correct Ans : B

Q.No: 35
2417202 An application of the accounting principles to the business of farming is:

JR & Uy A Aaie Rigidl ST Sy 8:

Farm Planning

A

B e

Farm Accounting
B

B ST

Farm Budgeting
C

BTH FelfeTT
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Marketing

ATHTET

Correct Ans : A

Q.No: 36
2417218 Which one of the followings sets of soil conditions is more suitable for plant growth?

fafied & 3 frg) 1 o= a1 I el @1 g & R sifte Suge &2

Sandy soil with high aeration and low water holding

A
I aTa 3R FU o UTiva H arelt Yeieht frgt
Clay soils with higher water holding capacity and low aeration
B
J= oIe YTRUT T 3R S ara- are frdh
organic soils with high water holding capacity
C
I W YR &l arelt Sfaw g
Loamy soils with medium aeration and medium water holding capacity
D

TYH qTa- 3R HeAH Wd YIROT &t arelt grae fagh

Correct Ans : D

Q.No: 37
2417219 'Crop logging’ is a method of:

g AT g e fafd 3

Assessing crop damage

A
wHd B & BT sMHa
Soil fertility evaluation
B
7T Il T Yeuid=1
Plant analysis for assessing requirement of nutrient for crop production
C
B ST & R Ny Iedl B STaqHdT BT THad B3 P g qel ST fazamor
Testing suitability of fertilizers
D

ISP BT UG BT U&7

Correct Ans : C
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Q.No: 38
2417220 “Hidden hunger” means:

e eR" &7 3 ®:

Deficiency symptoms are seen when the nutrient is deficient

A
Y dd Pt FH 81 W IT FH F da0r i@ aa g1
Sever yield reduction may occur without appearance of deficiency symptoms
B
P F &N Bt IufRUfa F 13T Iuw A HTET F B THt B
The nutrient is not deficient but apparently seems to be deficient.
C
Y dd Bt F E 2 AP WY IR R Ht wedid gkt 21
Visual deficiency symptoms are suppressed by other elements
D

T2 St S TEUN DI 3 Tl GRT gaT faar wirar 21

Correct Ans : B

Q.No: 39
2417222 Addition of the following material makes it possible to take good crop in sodic soil:

i T &) s & 9fee g 3 o st e ST v e

FYM
A

FYM

Green manure
B

SikGICd

Gypsum
C

foreas

Sulphur
D

qehY

Correct Ans : C

Q.No: 40
2417224 All India Soil Survey and Land Use Organization was established in:

T YR T Tderor 3R YfFT IUGRT W6 BT RIUAT B P11 A2
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1952
A

1952

1956
B

1956

1962
C

1962

1960
D

1960

Correct Ans : B

Q.No: 41
2417225 A combination of many taxonomic unit like soil series phase or type is called:

T[T SRGE IRUT T YHR S 3D SRS SHIZT b G Bl ... g oI B

Soil variant

A
Hal PR
Soil series
B
a1 y@an
Soil complex
C
TeT IR
Soil association
D

a1 99

Correct Ans : D

Q.No: 42

2417229 A soil absorbs about of incoming solar radiation.
foret e M I IR IR0 ) it et 31
5%

A

5%
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10%
B

10%

15%
C

15%

20%
D

20%

Correct Ans : B

Q.No: 43
2417230 Black and dark coloured soil absorb heat from sunlight then light-coloured soil.
PIC 3R TR 7 P Tt QR 1 A= | gt T B LT BT e Tt =it Bt B
Less
A
H
More
B
st
Negligible
C
T
Very high
D
qgd fUs

Correct Ans : B

Q.No: 44
2417233 Carbon requirement of plant is met by absorbing:

T B PTa TLIDT ... B TRNT PR T Eelt B

Carbon from soil minerals

gt & @freil @ oA

Carbon from soil organic matter

it & e Terdl @ ST
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Carbon monoxide from atmosphere

THST W HIH THISTRITZS

Carbon dioxide from atmosphere

AU A I STFSMTRAZS

Correct Ans : D

Q.No: 45
2417234 Cation exchange capacity is found minimum in the case of:

fora fRufq & sfea fafma emrar g=aw i st 82

Montmorillonite

A
HiewRarge
Illite
B
garse
Kaolinite
(o)
FrafiferTge
Humus
D
'Y Y

Correct Ans : C

Q.No: 46
2417375 Which fruit contain maximum calories?

g o & ifiiean Har gt 82
Date palm
A
R
Karonda
B
Har
Custard apple
C

e/ dAaea
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Aonla

e

Correct Ans : A

Q.No: 47
2417376 Bottom heat technique of mango cutting for rooting is done at

3T B HAH DI 9IS J Bled P sicd gie qPb-id [Hg agHH R BI ot g7

50°C
A

50°C

32°C
B

32°C

40°C
C

40°C

100°C
D

100°C

Correct Ans : B

Q.No: 48
2417377 Cell division continues till maturity in fruit development of

5 Bat b B § Bol b TH I DIRBI (AU SR I8dT 82

Peach
A
g
Strawberry
B
Avocado
(o)
LCIcas]
Apple
D
Jg

Correct Ans : C


https://applink.adda247.com/d/XhqWf9lSap

Adda247 ETN oty

Q.No: 49
2417378 First successful transgenic fruit plants are produced in

T UES 59 wd & G Cisie Oidl BT Sare far mar?

Pear
A

AT=ATe

cherry
B

N

Walnut
C

@RI

Apple
D

GiC]

Correct Ans : A

Q.No: 50
2417379 Yeast is used for making

TR &1 IUANT 1 s # S S 82

Nectar

AR

Cordial

CQIRDG

Cider

Syrup

Rru

Correct Ans : C

Q.No: 51
2417382 Sigatoka is associated with

e frad ¥efia 32
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Mango
A

3

Banana
B

Ferr

Apple
C

Iq

Pineapple
D

SHEE™

Correct Ans : B

Q.No: 52
2417383 Which hormone is most effective in hulling of walnut

SRARIe B Rl & B T g a9 i qurdt giar 32

GA3
A
g3
Kinetin
B
BreafeT
IAA
C
E I
Ethephon
D
TABH

Correct Ans : D

Q.No: 53
2417387 Marmalade is prepared from

TR 76 el & JUR o S 82

Custard apple

RIET
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Apple
B
GiE]
Orange
C
et
Litchi
D
iG]

Correct Ans : C

Q.No: 54
2417393 Evaporative cooling system works on main principle of

refienur Sfide yumrelt e wRe Rigid &R & B 82

CA storage
A
T HsrRur
MCA storage
B
THHIT HSRUT
Zero energy cool chamber
C
T St fad we
Cold storage
D

=i vsrRor

Correct Ans : C

Q.No: 55
2417394 Sliver thio-sulphate is the best preservative of

RreaRT-Tethe g Ga9 33T URRE® &7
Cut flower
A
e gL A
Spices
B

T
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Cassava
C

HIrar

Sweet potato
D

BIE T T

Correct Ans : A

Q.No: 56
2417484 The Term ‘Extension Education’ was first coined in:

TRICEH TR (faaa ey rearactt Tduym Fgi SuaT Bt 78 ot

USA
A

EUIY

UK
B

Japan
C

ILIE)

India
D

HRA

Correct Ans : B

Q.No: 57
2417485 The person considered as father of extension in India:

YR 7 AR &1 5 5 |1 ST 87

A.A.Reddy
A
LAEE
O.P.Dahama
B
St e
J.B. Chitambar
C

o4, fRamR
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K.N.Singh

*.uq. Rig

Correct Ans : D

Q.No: 58
2417486 An Extension agent is considered to be a:

TRIT 39R U& [9WR Toie &1 g afed:

Personal cosmopolite

A
HfGTd AR
Impersonal cosmopolite
B
SATTRIP HEFIRE
Personal localite
C
iR R
Impersonal localite
D

SIS R

Correct Ans : A

Q.No: 59
2417487 A blue print for action is:

it wTd-fven 3 1 e @ e &

Project

fegerET

Programme

P H

Objective

A

Plan

BicE|

Correct Ans : D
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Q.No: 60
2417489 The extension approaches wherein success is measured in terms of the rate of take up of the recommendations, and increases in national
production:
fowaR =i o siera gwad & RIGIRET S o 3 R R I Sared § gfe & gef § Tea geaiferd far o &
Project approach
A
AT e RS
Commodity specialized approach
B
FHISE fafkrg et
Cost sharing approach
C
ARTT TSI TR
General agricultural extension approach
D

T Py weeht ef¥etor

Correct Ans : D

Q.No: 61
2417491 The optimum number of flash cards is:

I TS P ST TS Bl B

10-12

10-12

12-14

12-14

14-16

14-16

16-18

16-18

Correct Ans : A

Q.No: 62
2417492 Sarvodaya scheme was started by :

Ydleg WhiH % gRT 3™ & T3


https://applink.adda247.com/d/XhqWf9lSap

Adda247 ETN oty

F.L.Brayne
A

TH. T

Spencer Hatch
B

TR &9

VinobaBhave
(o]

famiar yrad

T. Prakasam
D

&, upmRm

Correct Ans : C

Q.No: 63
2417493 Who is the secretary of Gram Panchayat?

I U BT g B gl 87
Sarpanch
A
WU
ADO
B
Tdtait
BDO
C
dtait
Gram Sevak
D

I JaP

Correct Ans : D

Q.No: 64
2417495 The Ganga KalyanYojana is for:

T Sed Ao g & & forg §:

Consumption purpose of farmers

framt &1 Tua st
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Irrigation for small and marginal farmers

B

g SR Huia et & fg Riarg

Credit support scheme for rural people
C

o @R & fore hfde awdT

Credit support scheme for small farmers.
D

B frumt & fRrg wide o=

Correct Ans : B

Q.No: 65
2417498 DRDA is located at :

B3RS Pef A 7:
State level
A
I TR W
District level
B
TR w®
Block level
C
TGS TR R
Village level
D

IH TR W

Correct Ans : B

Q.No: 66
2417766 Green Revolution in India was founded by whom in India to increase agricultural productivity in the developing world

URd # gRT Hifa &1 T fFrad gR1 YR & fem=ia 32 § $ Sarsd den & fw ot 78 o

M.S. Swaminathan

. T, WTHIATYE

Charles Darwin

e sIfdT
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Norman Borlaug

c
AT SRar
R.D. Iyer
D
RS TR

Correct Ans : A

Q.No: 67
2417767 Which one is not regarding plant breeding?

DN U UIGY Yo b Fay | 78T 82

Increase the quality and yield of crops

A
wHa P U R Iuw A gf S
Manipulation of plant species
B
el B yenfo # {R
Disease-resistant plants are produced
C
T yfaRih Rl 1 IeareT A wimaT @
Used in manipulation of leaching method in mining plants
D

T U # R fafy & e # SudinT A s @

Correct Ans : D

Q.No: 68
2417768 Which one is involved in plant breeding practices?

TeT TSt gUTeh | i it 82

The hybridization of pure lines

A
[ 13T BT HH0
Maintain soil texture
B
frdt &t arrae s
Check precipitation
C

auf Ft wifg
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Study data analysis

a7 faxawor &1 srema

Correct Ans : A

Q.No: 69
2417772 Which step is the main root of any plant breeding programme

I 91 =0T bt Wt Urey go HrdshH Bl T O gl §

Genetic variability

A
STgafRre ufvad=iear
Evaluation and selection of parents
B
TTa1-fn &1 gedied ofiR T
Cross hybridisation among the selected parents
C
g Arar-far & 99 B ggfieges
Selection and testing of equipments
D

ISV BT TG 3R T&0r

Correct Ans : A

Q.No: 70
2417778 The quickest method of plant breeding which introduce sudden changes in the genome.

TTeU Yo 1 FEd O fare St S # e gRads a8 |

variable selection

A
giad-=ie T
cross breeding
B
wr fifET
hybridization
C
T3
mutation breeding
D

Iqiad weET

Correct Ans : D


https://applink.adda247.com/d/XhqWf9lSap

Adda247 ETN oty

Q.No: 71
2417779 Similar genotypes produced by plant breeding technique is called

UIEY TS da1e gRT At 9HE SRy $Ea §

Clone
A

e

Offspring
B

qere

Progeny
C

Hafa

Genome
D

Einit)

Correct Ans : A

Q.No: 72
2417780 Atlas 66 is a biofortified hybrid wheat variety which has been used as a donor for improving cultivated wheat and is rich in

A 66 U SAIGICHIES g8iie g &1 [ § R swama g & Wl & guR & e orar & w9 & fvar man § 3R 98 99 8

iron
A
Tt
fats
B
qar
proteins
C
ICE]
vitamins
D
faefm

Correct Ans : C

Q.No: 73
2417781 In 1986 which first transgenic virus resistant plant was produced using virus resistance gene, which generates resistance against virus

attack.

1986 T aTERY UfRIY S BT IUGNT HP Ugall ol IERT TfaRIeh WO o1 IadTe- fbar 1 oT, S aeRY & g9 & [Gah TRy I Tl 2
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Potato
A

ST

Cotton
B

U

Tobacco
C

Leicd

Tomato
D

CHICY

Correct Ans : C

Q.No: 74
2417782 Nutritional quality has been improved by the addition of vitamin A by genetic engineering in which plant

o O & sngafie Sohfafer gr e A &1 =nfird a5 divor Jorem & guR fsar 82

Cotton
A

U

Maize
B

HIDT

Wheat
C

Rice
D

qrad

Correct Ans : D

Q.No: 75
2417784 In which technology the life of a tomato is enhanced.

g deites § THIeR @1 39 | gig @1 o 81

Antisense technology

TR aie
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Gene jumping

B

ot siftRT

Chromosome jumping
C

R &

Microbial technology
D

argwifeas wenfie

Correct Ans : A

Q.No: 76
2418011 Discolouration of areas on leaves, stems and roots are the common symptoms in fungal diseases but also occurs in bacterial and viral

diseases is called-

W ST AT A Ui, a1 SR SIS & $T U BT TN BihT IS AT T&01 8, AfpT I8 Sany] iR JraRem # o §ia1 8, o weamn 32

Necrosis
A
LUK
Crown gall
B
P13 A
Rots
C
Gummosis
D
TR

Correct Ans : A

Q.No: 77
2418012 The yellowing of green tissues or structures (especially leaves) due to either non-formation or destruction of chlorophyll.

FARIMPA &b 7 I AT Y B P PR 8L Hadd! 1 I ([IRweR uferal) o1 e g

fire blight
A

BIIR <IgC

Chlorosis
B

FARIRT
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rots
C
diew
damping off
D
TS e

Correct Ans : B

Q.No: 78
2418013 Which of the following is a common symptom of plant disease?

frofeiia & & HH T1 UTCY-IT BT T JHIT T 82

Different Height Of Plants

A
drel 1 fafir s
Different Flower Colour
B
ST IS FE & T
Perfect Flowering
C
qof g1 &1 g9
leaf curl
D
gof Ha=

Correct Ans : D

Q.No: 79
2418017 Chemosterilants are the chemical compound used to control economically destructive or disease-causing pests by causing

PR IEEe e § e IuanT oifife w0 F fRAmert a1 1 Ae) B9 a1 & Fafd wea & e e srar g

sterility of one or both of the sexes

A

TP T1 g1 o @Y Sigra

excessive growth regulators synthesization
B

srafie faer e dxayor

inhibit feeding of the insect
C

PIe & WIS B ABT
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declining in growth

fawra § firmae

Correct Ans : A

Q.No: 80
2418018 Plant Quarantine regulatory measures are operative through the "Destructive insects & pests Act, was introduced in India in

ey TTRIY o Iu "fAAReRt $18 iR @ie iy, % mey § Jeid | U8 YR few oy # 9w fakan -

1917
A

1917

1915
B

1915

1926
C

1926

1914
D

1914

Correct Ans : D

Q.No: 81
2418019 Which Contact poisons penetrate the skin of the pest and are used against those arthropods,that pierce the surface of a plant and suck out
the juices.
P Y YUD R Bic P 71 H YI P § 3R 3 MUy & RIAs IuT Y o €, S 18 Bt Gag &I Bad & 3R 0 T4 g
Malathion
A
Aarfas
caldrin
B
DDT
C
SEid
Pheromone
D
B

Correct Ans : A
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Q.No: 82
2418020 The scientific study of diseases in plants caused by pathogens (infectious organisms) and environmental conditions (physiological factors)

is called

e & IToM! (FepTieh Sitah) R goiaruiia aRfRufeEt (ARe SRS F SR G a1 I & IS IeqT Bl Bl Sl &

phytochemical

A
LaErEat o]
phytopathology
B
LAEGEUIGIE |
phytotoxicity.
C
WIgCIeRIRI
phytoplankter
D

BIgewiber

Correct Ans : B

Q.No: 83
2418021 Who is the Father of Mycology and Plant Pathology in India and became the Imperial Mycologist in India

YRS & AEHIaron iR wic Jiarst & P HIF & R URd H SHRTe Asdhiaione s-?

EJ Butler
A

39 JeeR

KB Khurana
B

Felt GRAT

R.C Dubey
C

SR ga

R Prasad
D

3R YTg

Correct Ans : A
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Q.No: 84
2418024 Rotenone is an odorless, colorless, crystalline isoflavone used as a

A T T, FTEH, el SeEuRd § Rt ST -m oo T # fopan o &

Insect hormone

A
FIe gHH
Natural insecticide
B
Wpfas Ble=rs
Bioherbicide
C
EIRIEET I
Herbicide
D
TTHIRI

Correct Ans : B

Q.No: 85
2418026 Pyrethrin is made up of six toxic chemicals that together constitute an insecticidal property is extracted from

3R B8 Sediel AT I &1 81 € o T 1Y AR Ueb eI YU ol (i BRd & I8 fohad Fdbran oirn @

Rosa Carolina

A
A HARET
Helianthus annuus
B
Y T
Lilium canadense
C
faferan s
Chrysanthemum cinerariifolium
D

Taersdl RrRiwifas

Correct Ans : D

Q.No: 86
2418147 Which of the following plant hormone, plays a primary role in allowing K+ to pass rapidly out of guard cells, causing the stomata to close in

response to drought?

frafofed & & S @1 g g K+ B mE SRETe F Aol F IR Feem Bt orgafa 3 F vrufies yfret Ry 7, e g@ #t Rufa 7 3§ @ 9w 82
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Cytokinin
A
GIECEIH R
Abscisic Acid
B
TfaRe tRs
Ethylene
C
R
Auxin
D
Siffea

Correct Ans : B

Q.No: 87
2418148 Which among the following plant hormone, increases as a plant response under flooding conditions?

a1¢ o1 fufa & e & Fofafed & & $9 o Uy g sgar 82

Gibberellic acid

A
forefers whrs
Auxin
B
Siffea
Abscisic acid
C
ufeuRie TRis
Ethylene
D
TRy

Correct Ans : D

Q.No: 88
2418149 Which, among the following membrane transporters, shows active transport mechanism?

frafofed el gdidd & @ o1, kg gl 7 o o ifa g2

Carrier proteins

Hiar W=
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Channel proteins

B
I WA
Pumps
C
U
Co-transporters
D

FI-gEUR

Correct Ans : C

Q.No: 89
2418150 Casparian strips-

FafgT &w-

are present in endodermis to prevent water and ion movement.

A
TR O STE AT B A ¥ e tetshfy § Higg e f
are present in xylem tissue to prevent water and ion movement
B
U 3R ST WaTe P AP & AT Sgaw Fae d Hieg gl &
are present in phloem tissue to facilitate solute movement.
C
T Sae & R 168 S GRS TR R g e §
are present in endodermis to facilitate solute movement.
D

g vare 9 gRiuee T & e teiefia & divg 8@ 81

Correct Ans : A

Q.No: 90
2418151 The most accepted theory to explain ascent of sap in plants “transpiration-cohesion-tension mechanism”, was proposed by:

qelf T THRIGY Bt AR B3 F [ o Whopd Ry "ariiersi-Hars-a1a a8 gRT URarfad 3 mar o

J.C. Bose
A

. . A

Godlewski
B

Trsdomnt
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Dixon and Jolly

C
o ofik wifeht
Strasburger

D
TSR

Correct Ans : C

Q.No: 91
2418152 In a process of global nitrogen cycle which among the following is not the key step?

Ay eSS I B ufsean & Fuffed § ¥ FF-T1 Aeayyl =R T §2

Fixation of atmospheric N, to NH; and NH; and by bacteria

A
ARHASATI N, &1 NH; 3R NH. 3R dediRangany feadesor
Denitrification of nitrate by bacteria back to N

B
SHTATURHT CaRT ATS¢.C T HATSE I 0T aTgd N, 3,
Nitrification of these molecules to nitrate by bacteria

C
3 Syt &1 SfiaTysii gRT ATgee W ATgABRUr
Nitrate oxidation by plants

D

drelf gRT A1gee STRABOr

Correct Ans : D

Q.No: 92
2418154 Darwins’ phototropism experiment and Went's coleoptile tip experiment are related to which of the following hormone:

S 1 YBTE AT SR de 1 leigra fou yai Fafered & 3 ey gl & e 8

Cytokinin
A
ArgBIE A
Auxin
B
SR
Gibberellic acid
C

IKENKERT
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Ethylene

EEIE]

Correct Ans : B

Q.No: 93
2418156 “Triple response”, a key reaction of ethylene, is characterized by:

"feus ety St f uieliv @1 web wig widfshan &, @t g 8

Plumule hook opening, positive gravitropism and internodal elongation.

A
Uipe §F URYH, TPRIHS [oarbyur 3R rerud<ty afg |
Excessive cytokinesis, negative phototropism and parthenocarpy.
B
SARE B fAUTSH, TERIAS UHRGad AR b Ha|
Inhibition of stem elongation, promotion of lateral swelling of stems, and reduced sensitivity of stems to gravitropic
stimulation.
C
T B0 B AT, a B U Yo B TgTaT 1 SR Teareyul & ufa o=l F Tdeierar § F
Fruit ripening, plumule hook opening and negative phototropism.
D

Wal BT UBAT, WP §F URYA 3R THRIAS GBI |

Correct Ans : C

Q.No: 94
2418157 Photomorphogenesis can be defined as:

BTGB AR P 39 YHR URHING fbar o Geba &

Reproductive events in plants controlled by light

A
TR gRT Gl & yeree fmansit @1 fsror
Light dependent seed germination event
B
THTN GRT 16T P01 71 Forgzor
Release of plant hormones under controlled light conditions
C
frifia w9 fRUf & urew swi= &1 v
Physiological and developmental events in plants controlled by light
D

ST gRT Wiel § e ok e gesi &1 fasor

Correct Ans : D
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Q.No: 95
2418164 During the process of seed germination, which of the following hormones diffuse through the endosperm to a surrounding tissue called the

aleurone layer?

Froffa & & $ 1 uey g, 9 & 3G 3T UfhaT & SR, TSRuH & A1 I TeRF Wd | i giar 82

Auxin
A

ST

Brassinosteroid
B

TIRFRRRIES

Gibberellins
C

Rrexfor=a

Cytokinins
D

Trgelfef=

Correct Ans : C

Q.No: 96
2419110 An Enquiry into the Nature and Causes of Wealth of Nations” is the book of economist

"V TN 3 & AR TS Floial 3t I 3 A= (1P & o7 B} TP MR FROT Bt i e)" {59 sz 1 g g2

Adam Smith
A

ey ¥y

Marshall
B

Tr=fa

Robbins
C

=T

J. S. Mill
D

<. T, |

Correct Ans : A
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Q.No: 97
2419117 Who is known as the father of economics?

fd T S R AT ST 82

John Maynard Keynes.

A
S BT B
Milton Friedman.
B
e wishia
John Pedro Sanchez.
C
St Ag e
Adam Smith
D
ey fAry

Correct Ans : D

Q.No: 98
2419118 Gross profit is -

T A 8-

Cost of goods sold + Opening stock

A
I Y AT B AR + URAIF w=ih
Excess of sales over cost of goods sold
B
I T AT Bt AT IR At B siframar
Sales fewer Purchases
C
ot o0 @de
Net profit fewer expenses of the period 4
D

3afy 4 F m Y FH T

Correct Ans : B

Q.No: 99
2419120 Net return per hectare is:

1. Overall efficiency measure
II. Partial efficiency measure

III. Specific efficiency measure
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Uil 3RW T TH 2.
I. gHY Q&dl U™y
11. i1 gaar U

111. fafry geran U

Only I
A

Fad I

Only I1
B

Fad II

Only III
c

Fad III

All I, II and III
D

Tt 1,11 3R 111

Correct Ans : A

Q.No: 100
2419121 When variable cost is zero, the total cost will be?

I. Equal to variable cost
II. Equal to fixed cost

III. Equal to average variable cost

T gRadRie AT A B, A el AT [ gii?
1. URETAE ARTd & SRR

11. fRR AN & SRR

111. 3id uRad-=iid arTd & SRTaR

Only I
A

Fad I

Only I1I
B

Fad II

Only III
c

Had III

All I, II and III
D

I 1,11 3R 111
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Correct Ans : B

Q.No: 101
2419221 On which of the following river’s banks is the Barabati Fort situated?

IRTEd fben Fofifed # @ fbg 7 & 9 W Rd &2

Krishna
A

P

Godavari
B

Tgradt

Mahanadi
(o}

A

Hooghly
D

gt

Correct Ans : C

Q.No: 102
2419223 Which of the following forts has the Fateh Darwaza?

fofafed § ¥ fe fed & wag axamn 82

Mehrangarh Fort

A
AgTe fpan
Vellore Fort
B
e faram
Kangra Fort
C
ST forar
Golconda Fort
D

MasisT fear

Correct Ans : D

GET IT ON

Google Play
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Q.No: 103
2419300 Which of the following is NOT an example of Fixed Capital?

Foffad & § $ srad dolt &1 IaeRu T8l 77

Building

Machinery

A

Tools

Labour

99

Correct Ans : D

Q.No: 104
2419301 The measure of unit for lands used in the local villages is also known as -

Ry et & ITNT @) 9 arelt ofty & o STE & T Y o wet S 82

Bigha
A
dter
Guintha
B
=
Centimetre
C
e
Both Bigha and Guintha
D

dhar ok et S

Correct Ans : D

Q.No: 105
2419309 Which of the following defines disguised unemployment?

el o & $1F Td SRS B IRV Par 22


https://applink.adda247.com/d/XhqWf9lSap

Adda247 ETN oty

It occurs when the productivity is high and therefore workforce is laid down.

A
g a9 T § W9 ITGhdT AP gt & 3R sl wrfaw FArufia fomar wmar @
It occurs when there are too many qualified people for the work.
B
g 99 giaT & 9 $ & RIe 9ga Sifire g @ g &
It occurs when productivity is low and too many workers are filling too few jobs.
C
g 99 BT & 9d SATGHdl HH il § 3R 9gd ¥ HHARI 9gd 9 NHRAGi W W e &
It occurs when the business goes bankrupt
D

g 9 BT § o9 SaaTg fYarimn 8 s

Correct Ans : C

Q.No: 106
2419381 Which of the following teams won the ICC Women's T20 World Cup 20207?

rofeiea & @ g a9 3 arSaiih afgen &-20 Ry w7 2020 S

India
A

HRT

New Zealand
B

Australia
(o]

West Indies
D

ERErc ]

Correct Ans : C

Q.No: 107
2419505 The forces that work on the surface of the earth are known as which of the following?

gt Y Yde W B B3 A7 gal 3 FEfi@d # § fw wu § S S 82

Endogenic forces

FrEicknd
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Exogenic forces

B
Sfgeria aa
Sudden forces
C
STHHD I
Diastrophic forces
D

yed faeuur 9@

Correct Ans : B

Q.No: 108
2419542 Warren Hasting became the first Governor General of India in which of the following years?

IR 2 Ffead & @ 59 98 # YR & Ugd AR SRS §9?

1753
A

1753

1763
B

1763

1773
C

1773

1793
D

1793

Correct Ans : C

Q.No: 109
2419544 The East India Company acquired a charter from which of the following ruler of England, granting it the sole right to trade with the East?

3% 3feTr ol A Siois & FEfiid # I 5 e I Ue 9k U fean, SR 39 Ud & 1Y TR IR BT UhH ifeR e mre

Queen Elizabeth I

I TReaY I

Queen Elizabeth II

EiRRYREICK R
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Richard II
C

g

Henry IV
D

T IV

Correct Ans : A

Q.No: 110
2419624 Who had composed the Geeta Govinda or Gita Govinda?

i Mfde &1 =1 fooaa 3t A2

Tulsidas

geafter

Kalidas

pifeerd

Surdas

e

Jayadeva

wged

Correct Ans : D

Q.No: 111
2419626 Who is the writer of the novel “The Guide”?

g TMES" IUUY F AWD DI 82

Ruskin Bond
A

P a9

R. K. Narayan
B

3R, &. TR

K. R. Narayanan
C

&. 3R, ARV
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R. K. Laxman

3R, &. AU

Correct Ans : B

Q.No: 112
2419702 The Constituent Assembly, following the partition of India in 1947, consisted of how many members as on 31st December 19477

1947 T YRA & U & a1 Ifaum gur & 31 TR 1947 &) b Te=a A2

299
A

299

229
B

229

199
C

199

169
D

169

Correct Ans : A

Q.No: 113
2419704 Fundamental Rights are enumerated in the Constitution of India under which of the following Parts?

R & e F Aferep fIeRY Bt T Fafied & & fbg Wi % sida B T 87

Part II
A

HIT II

Part III
B

I I1I

Part IV
C

HIT IV

Part vV
D

UV

Correct Ans : B
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Q.No: 114
2419718 The Constitution of India provides for how many kinds of Writs?

URA BT IRYF b THR F e e Har 22

2
A

2

4
B

4

5
(o}

5

7
D

7

Correct Ans : C

Q.No: 115
2419907 Who was the governor-general when the Pindari War was fought?

i g & T TaR wRA B A?

Lord Dalhousie

A

Wi g

Lord Hastings
B

wre e

Lord Bentinck
C

s dfew

Lord Cornwallis
D

wiE Hi-arerd

Correct Ans : B

Q.No: 116
2419908 Which of the following mahajanapadas was situated in Madhya Prdesh?

Frofafed & 9 9 a1 vereFYe 0w wew § fRyd ur?



Adda247 ETN oty

Malla
A

Aol

Anga
B

ST

Surasena
C

Avanti
D

3radt

Correct Ans : D

Q.No: 117
2419978 Which of the following cities of Madhya Pradesh have been selected for UNESCO'’s ‘Historic Urban Landscape’ project in July 2021?

e vew & Fafied ¥ 3 5T weR & Jars 2021 H gl 31 e wedt uiew ufkdie T & o g ma 82

Bhopal and Jabalpur

A
YT 3R FeaR
Gwalior and Orchha
B
IR 3R 3RBT
Mandu and Orchha
C
Tig 3R HRBT
Indore and Mandu
D

N 3 wig

Correct Ans : B

Q.No: 118
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the

appropriate option. If a sentence is free from error, select No error.

The Prime Minister is going to launched ‘Jan-Dhan Yojana’ scheme to benefit the villagers.

A The Prime Minister is going

B to launched ‘Jan-Dhan Yojana’

C scheme to benefit the villagers.
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D No error.

Correct Ans : B

Q.No: 119
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the

appropriate option. If a sentence is free from error, select ‘No error’.

The cotton crop in the eastern region was adverse affected by insufficient rainfall last year.

A region was adverse affected by
B The cotton crop in the eastern
C insufficient rainfall last year.

D No error

Correct Ans : A

Q.No: 120
In the following question, a part of the sentence may have an error. Find out which part of the sentence has an error and select the

appropriate option. If a sentence is free from error, select ‘No error’.

The police said that this was one of the most vicious attacks they have ever seen.

A The police said that this was

B one of the most vicious attacks
(o} they have ever seen.

D No error.

Correct Ans : C

Q.No: 121
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No

improvement.

The document is (concerning) your health and that of your family.

A concerns with

B concerned with
C concerns

D No improvement

Correct Ans : B

Q.No: 122
Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No

improvement.

I'll (clear out) this drawer and you can put your things in it.


https://applink.adda247.com/d/XhqWf9lSap

Adda

D

E l'I 7 %Eggog'ie Play

clear

clear up

clear off

No improvement

Correct Ans : B

Q.No: 123

D

Select the most appropriate option to substitute the bracket segment in the given sentence. If no substitution is required, select No
improvement.

The accused (denied the charges) framed against him.

declined the charges

denied charges

refused the charges

No improvement

Correct Ans : D

Q.No: 124

D

Out of the given options, choose the one which is the correct passive voice of the sentence given below.

Who did this work?

Who has done this work?

This work was done by who?

By whom was this work done?

This work was done by whom?

Correct Ans : C

Q.No: 125

D

Out of the given options, choose the one which is the correct active voice of the sentence given below.

I am disappointed that an unrealistic policy has been adopted by committee.

It has disappointed me that the committee has adopted an unrealistic policy.

It is disappointing to me that the committee has adopted an unrealistic policy.

It disappoints me that the committee has adopted an unrealistic policy.

It has been disappointing to me that the committee has adopted an unrealistic policy.

Correct Ans : C
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Q.No: 126
In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which
best expresses the same sentence in Passive/Active Voice?
Can you see the sun in the sky?

A Can the Sun in the sky be seen by you?

B Can the Sun be seen by you?

C Can be the Sun seen by you?

D Can you seen the Sun in the sky?

Correct Ans : A

QNow 127 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternatives suggested, select the one which
best expresses the same sentence in Passive/Active Voice.
Our hosts were thanked by us for their kindness and hospitality.

A We thank our hosts for their kindness and hospitality.

B We thanked our hosts for their kindness and hospitality.

C We will thank our hosts for their kindness and hospitality.

D We are thanking our hosts for their kindness and hospitality.

Correct Ans : B

QNow 128 Out of the given options, choose the most appropriate word/set of words to fill in the blank.
The jury ___ him guilty.

A found

B have find

C has find

D have finds

Correct Ans : A

Q.No: 129
Out of the given options, choose the most appropriate word/set of words to fill in the blank.
Columbus America.

A discovered

B have discover

C have discovered
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D has discover

Correct Ans : A

Q:Nox 130 Out of the given options, choose the most appropriate word/set of words to fill in the blank.
Used car sales down because of the increased cost of new cars.

A have gone

B had go

C have went

D has go

Correct Ans : A

Q.No: 131
Select the most appropriate option to fill in the blanks.
He came to the surface of the water for air.
A dwelling
B working
C shaking
D Gasping

Correct Ans : D

Q.No: 132
Select the most appropriate option to fill in the blanks.
Richard was to atone for his thoughtlessness.
A anxious
B general
C campaign
D dialogue

Correct Ans : A

Q.No: 133

Select the most appropriate option to fill in the blanks.

Regions specialised in heavy industries may to invest in the infrastructure required for the decarbonisation of such industries.
A needing

B needs
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C needed

D need

Correct Ans : D

Q.No: 134
2420199 The human eye is most sensitive to yellow-green light having wavelength -

AT 37 HA-8X T & o 3= Gde=iia 81d &, e avesa § -

1550 A
A

1550 A

8550 A
B

8550 A

5550 A
C

5550 A

9550 A
D

9550 A

Correct Ans : C

Q.No: 135
2420204 Which of the following is not an insulator?

Fofied § ¥ $H U paas T 82
Mercury
A
qRT
Bakelite
B
Yharse
Rubber
C
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Glass

RGIE )

Correct Ans : A

Q.No: 136
2420360 Which of the following is the ratio of Oxygen to Nitrogen in the air?

i # § 9 ga1 § IRl 3R TecoM 31 3 3?

1:4
A

1:4

2:3
B

2:3

3:2
C

3:2

4:1
D

4:1

Correct Ans : A

Q.No: 137
2420362 For the process of photosynthesis, which of the following gases is required during the day?

&7 ¥ Trw g Ixaver Bt Ui & o el o I 5w 9 @t siawgedr gidt 82

Nitrogen
A
Carbon dioxide
B
P SIS
Oxygen
C
Sfefter
Argon
D
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Correct Ans : B

Q.No: 138
2420367 Anesthesia which is administered during the surgeries in the hospitals is a mixture of which of the following gases?

SRaTell H Toid) F ERM <t oM arelt iR e & & fea g o1 fygor g2

Oxygen and Nitrous Oxide

A
ATRAoH SR I3ew sifFass
Oxygen and Nitrate Oxide
B
SRt SR ATgdT TFIES
Oxygen and Ammonia
C
SHfeRfie 3R srferan
Oxygen and Phosphorus
D

STRfIer 3R PRBRA

Correct Ans : A

Q.No: 139
2420377 The amount of water vapors differs from place to place. Its amount is minimum in which of the following places?

STETATS Y HIAT SFERT- ST SI61 TR SHA-37E BIeh o S9! AR i # 9 by R W rad &2

Pacific Ocean

A
U= HERITR
Antarctica
B
Fricarcal
Indian Ocean
C
fée werarR
Arabian Sea
D

SRY AR

Correct Ans : B
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Q.No: 140
2420500 Which of the following is NOT a sexually transmitted disease?

frafafaa &  S-a1 d= Gurika A7 T2 82
HIV/AIDS
A
TR / TEH
Pubic lice
B
TE o
Trichomoniasis
C
TEHMATRE
Blood Cancer
D

Iqd FH

Correct Ans : D

Q.No: 141
2420501 What is the gap of time between the entry of germs into our body and appearance of symptoms of the disease called?

FAR TR H Slemet & gaw R A7 F &0l S Ybe T b SId P IR B R Pedl 87

Incubation period

A
S Aty
Pathogenic period
B
I Aty
Contagion period
C
HhrE afy
Inactive period
D

ffepa safy

Correct Ans : A

Q.No: 142
2420513 Which of the following is NOT a symptom of Amoebiasis?

Frofeiad & @ o srfiaralig o1 wemr 78 82
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Abdominal pain

A
Tead
Cramps
B
v
Constipation
C
ool
Temptation to binge eat
D

IERIGLIERCIE R R IR

Correct Ans : D

Q.No: 143
2420641 The word “acid” comes from a word.
TS Teg, TH Teg 8
Latin
A
dfes
Greek
B
Picg
Roman
C
AT
French
D
e

Correct Ans : A

Q.No: 144
2420642 Which of the following is NOT a natural indicator?

Fafifed & ¥ B TP Uiplac dbdd Tel 82

Turmeric

gt
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Litmus
B
fRrews
China rose petals
C
94 [are 3t ygfsat
Methyl orange
D

frursa i

Correct Ans : D

Q.No: 145
2420645 Which of the following is the least acidic fruit?

g & ¥ PF O 99 HH 3T B 8?7

Lemon juice

A
RICEIRS]
Amla
B
SHeT
Lime
C
Watermelon
D

WY

Correct Ans : D

Q.No: 146
2420649 Which of the following is used to treat the soil when it is too acidic?

g & 3 fpaer IuanT Sl sy B R g} % SR % R famar wirar 22

Quick lime
A
@fead g
Organic matter
B

P Tgrd

GET IT ON

Google Play
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Salt
C

THD

Organic matter and salt both
D

Prde Terd 3R TS S

Correct Ans : A

Q.No: 147
2420886 The organism living in the habitat, both plants and animals are which of the following component of the habitat?

T H g T S, MY SR R ST 31Ty & Fefifed § § o9 4 g 2

Biotic Component

A
4w TP
Abiotic Component
B
D gTP
Aquatic Habitat
C
wieft afrar
Terrestrial Habitat
D

RYAY AT

Correct Ans : A

Q.No: 148
2420887 Changes in our surrounding which makes us respond to them are called?

IR 3MY-Ug § §1 arel URadH St g8 39 R ufdfsear 3 & forg Ofva a8, Fefifed & @ o sea 82

Reflex
A
e foar
Stimuli
B
I
Reproduce
C
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Evolution

Sife® fae

Correct Ans : B

Q.No: 149
2420890 The rounded end of one bone joins with the hollow space of the other bone, allowing movement in all directions, in which of the following

types of joints?

PofiEd 3 A 59 UeR & e I Ue 531 &1 M RRT g 881 & @ell @I § god ¢, Rrad g fmsll & 1y wer € 82

Fixed Joint
A

3aq |y

Pivotal Joint
B

R 6y

Ball and Socket Joint
(o)

Hinge Joint
D

= afy

Correct Ans : C

Q.No: 150
2420898 The broad green part of the leaf is known as which of the following?

Tt F S & W Bl Fefiad # 9 g A | S o 87

Midrib
A
qelRRT
Leaf Veneration
B
fRrT f=ma
Lamina
C
HAD
Reticulates
D

wrfereT =t

Correct Ans : C
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Q.No: 151 At a certain film festival, eight films will be shown J, K, L, M, N, P, Q, and R. The order of the showings must meet the following conditions:
2421090 N is shown before L, ] is shown third, Q is shown fifth. If N is shown immediately after P, then P could be shown?
o R e gaRie &, os fhedl 3, K, L, M, N, P, Q, 3R R fexarg smaht wesfHi o1 s Fafei@a vl o @1 &ar @iRe: N & L | uga feamn s
7, ) 1 AR feaman S ®, Q Y utwar feamn S 71 g P % Sl a1e N e S 7, Y P b faRaman = webdr &

Third
A LR
Fourth
B T
Fifth
¢ e
Sixth
D dol

Correct Ans : D

Q.No: 152 A, B, C, E, D, F are sitting in a row facing towards West. E is not at the right end. B is just right of C but left of F. only D is between A and
2421092 C. Who is at the ljight gznd ? i . ! . ..
A, B, C, E, F T Ufaq & ufyim fa=n 3t oiR 7@ X S GUBIETN BR W TG 31 B, CH P A Z IRTIMFF aZ siR g1 Paa D, AR CF fa
# Y01 31 3¢ BR W B 82
C
A C
F
B F
D
c D
B
D B

Correct Ans : B

Q.No: 153
2421118 In the given figure, which number represents how many such pens are either new or blue, but not both?

42 <+— Pen

New=—> | 31 o4
38 | 48
21 56
19 25 7y
91 53
h
Blue

& 715 3l H, B A Fem A U e U7 & S € a1 Al §, e SN et § b amfedl g2

Q@ = | 31

91 53

210

210

200
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200

220
C

220

215
D

215

Correct Ans : C

Q.No: 154
2421143 Some statements are given below followed by some conclusions. Taking the given statements to be true even if they seem to be at

variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given
statements.

Statements:

I. All guavas are fruits.

II. No carrot is a fruit.
Conclusions:

I. Some carrots are guavas.
II. All guavas are carrots.

III. No guava is a carrot.

Fo FUT T G T § R o7 ey fou e §1 Ry U wue B g A gu o, afe 3 g a9t @ i ditd 8 €, o v et @ 0 ek
fopR fofa & fo fow e el & @ &1 1 AT 7T oA &1 difhes €U & SR el 31

T
1. Tl omFg B g

11. 1 o ToR et e 8|
s

1. B TSR 3HFE 8

11 Tt oeg TR B

111, Y f 3FReE TR e B |

Only conclusion (I) follows

A
Faa Frepd (1) SR B 8]
Only conclusion (II) follows
B
Fad Frepd (I1) SRR 34 8]
Only conclusion (III) follows
C

Faa Frepd (II1) SR a7d 7]

No conclusion follows
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g Wt Fred srgeror 78 Fvar 8

Correct Ans : C

Q.No: 155
2421151 In the question below are given some statements followed by some conclusions. You have to take given statements to be true even if they

seem to be at variance with commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:

All Hours are Seconds

All Seconds are Minutes
Only few Seconds are Days
Conclusions:

I. Some Minutes are Days

II. Some Hours are Days

A2 U A $O FUT IR T 918 $© ey el T B Ut AT T Ul Y W WA 7, WA @ S 1 9t § sre w81 8 o e &1 ufen
3R R Fofa R s fgam mar 1 a1 Fseps 19 T2t B ToRES FRT R HY! BT AMSS 0 F TR HT 3

BU:
Tl 6 qbs B

it Yobs fire @
Fael oo Abs eI 8
o

L. 5o fiFe A 8
IgoRiAs

Only conclusion I follows

A
Fad Frepy 1 R HaT &
Only conclusion II follows
B
Fad Fpy 11 SR FHaT &
Neither conclusion I nor II follows
C
T ey 19 € 11 SR St @
Both conclusions I and II follow
D

e 1 3R I 3ERr At @

Correct Ans : A

Q.No: 156
2421295 Choose the one which is different from other three alternatives

feu U fRiwet & § 39 fawed & g, St o 9 fawedl 9 =T B1
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Larceny
A

o

Robbery
B

q©

Snobbery
C

SRl

Burglary
D

Hy

Correct Ans : C

Q.No: 157
2421297 Find the odd word/Letter from the given alternatives.

fou U fawent # § faww Yo/ 3HeR 1A Hifor|

ABB
A
ABB
BCCC
B
BCCC
CCCDDDD
C
CCCbDDD
DDDDEEEEE
D
DDDDEEEEE

Correct Ans : B

Q.No: 158
2421302 Choose the odd one from the given alternatives.

fou M Ryt @ i 3 g

BCFG

BCFG
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NORS
B

NORS

WXAB
C

WXAB

EGFC
D

EGFC

Correct Ans : D

Q.No: 159
2421309 If x is coded as +, - is coded as +, + is coded as x and + is coded as then

88-11+2x24=7

T x BT+ F FUH IS AT, - B + F FUH HISA BT TE, + B x & T H HIfSd b T § 3R + F1 - ST o mn g,

88-11+2x24=7

32
A

32

40
B

40

35
C

35

30
D

30

Correct Ans : B

Q.No: 160
2421316 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be

used more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no
such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the second
letter of the word will be the answer.

oD

F2 feu U Uy BT 3R 3 ISOR! H T gH Bl Bled gU AT T | wiodied I § T T 3aR 1 U 3t aR SudNT fhar off Webdl & wiaie
IR YT F 18R & UAS $HER BT SUGNT Had T IR qul =sg M F e fvan ST 1 afe T 13 Reg G SR S Tehell § f SR X' §, R
I T 3R VT g ST S Tebal B, df IWR 'M' &, 3T eg; bl GIRT 3R I SN
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D
A

D

E
B

E

M
C

M

X
D

X

Correct Ans : B

Q.No: 161
2421317 In the question below, some letters are given in two ovals, intersecting each other. The letter(s) given in the intersected portion can be

used more than once while each of the letters outside the intersected portion is to be use only once to form meaningful word(s). If no
such word can be formed give ‘X’ as the answer, and if more one such word can be formed, give ‘M’ as the answer, otherwise the second
letter of the word will be the answer.

2 3T T vy F 35 SfER 3 SSTHRI H Th gER HI Pled gu U M ¥ ulried i # 3w oiert &7 U I ifiis IR IUHNT I o ahd § el
TASTRd UM F TIER F TAF 3eR BT IUANT Had TP IR YUl e 9 & 1T a1 91 81 I U1 B Weg 16T ST O Thall © dl SR X' T, 3R
e U 3R T Xeg FT O Gl ©, o IR 'M' &, 3T VoG BT GIRT 31&R IR ghMMI

C
A

C

X
B

X

(o}
C
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Correct Ans : C

Q.No: 162
2421355 Complete the following series:

AP, DQ, HR, MS, ST, ZU, ?

Fafafed g o g a1

AP, DQ, HR, MS, ST, ZU, ?

GV
A

GV

HV
B

HV

ED
C

ED

FS
D

FS

Correct Ans : B

Q.No: 163
2421359 From the given responses, find the missing letter in the series.

AEI, EIO, 10U, ?

fau o famedt # @ 9ot A g 31eR Y TG B

AEI, EIO, IOU, ?

AIL
A

AIL

OUA
B

OUA

IOA
C

IOA
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AIE

AIE

Correct Ans : B

Q.No: 164
2421364 From the given responses, find the missing letter in the series.

MaN, SaH, YaB, ?

feu U fywent & § 9oft & q 31eR Y I -

MaN, SaH, YaB, ?

EaVv
A

EaVv

RaC
B

RaC

FaVv
C

FaVv

TaD
D

TaD

Correct Ans : A

Q.No: 165
2421397 In the following question, select the related word from the given alternatives.

1.1,

1
147196 " 16°

ffafad w7 § for T fiwed & @ 9wfRia g &1 gl
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289

Correct Ans : C

Q.No: 166
2421398 Select the set of numbers that is similar to the following set of numbers.

(30, 72, 132)

F GEmelt & g &1 99 B Sl (Y TS F g F IHH 7

(30, 72, 132)

(20, 56, 110)

A
(20, 56, 110)
(15, 30, 80)
B
(15, 30, 80)
(4, 18, 56)
C
(4, 18, 56)
(6, 22, 102)
D

(6, 22, 102)

Correct Ans : A

Q.No: 167
2421447 Find the wrong number in the series.

28, 33, 31, 36, 34, 29

ST T B TTad W Bifeu|

28, 33, 31, 36, 34, 29
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33
A

33

36
B

36

34
C

34

29
D

29

Correct Ans : D

Q.No: 168
2421506 What should come in place of the question mark (?) in the following question?

2-[6-{3+(—4+5+1)x8} +12]=?

Fafafad uy & uyaras fog (?) & RIM IR F1 3T Age?
2-[6-{3+(4+5+1)x8}+12]=?

1
A

1

2
B

2

3
(o}

3

4
D

4

Correct Ans : C
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Q.No: 169
2421515 What should come in place of the question mark (?) in the following question?

fofafred vy & uyares g (?) & M R 47 37T 91igT?
[{(486)2=(27)}} x 15] +12="?

365
A

365

375
B

375

385
C

385

405
D

405

Correct Ans : D

Q.No: 170
2421548 Find the smallest fraction of the following fractions?

Fafafad el # 3 9@ o1 i 1d Sl

20
21

20
21

0w

0w

|
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FR

Correct Ans : C

Q.No: 171
2421553 Find the largest fraction of the following fractions?

frafafed e o 3 ge9 9t firg 31a Fifm?

63
181

63
181

78
521

78
521

24
29

24
29

Correct Ans : B

Q.No: 172
2421587 H.C.F & L.C.M of two numbers is 37 and 444 respectively, If one number is 111. Find the other number?

3 TRe13it T HewH WHITAD 3R TYTH FHIIIAS HH: 37 3R 444 21 A T = 111 & Y GO e 91d HIRvme?

111
A
111
74
B
74
148
C

148
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333

333

Correct Ans : C

Q.No: 173 Find the units digit of 829x677 + 342 x 873 x 256,
2421630 g29 x 677 4 342 x 873 x 256 HIHIS BT 3P T Bs-

A a
e o
¢ 2
°

Correct Ans : A

Q.No: 174 7 is added to a certain number, the sum is multiplied by 5, the product is divided by 9 and 3 is subtracted from the quotient. Thus if the
2421642 remainder left is 12, what was the original number?
7 B U T TRe # ST 91 €, AN 5 9 O AT e 8, I B 9 SR 3 F v far Sar € o 6 Wi I wern Wi 81 39 UeR I W 12 1,
q 7@ = @@

30
30

20
20

40
40

60
60

C

D

Correct Ans : B

Q.No: 175
2421677 A company made a cubodical box of Size 32 x 24 x 10 but later on it was found at the

2
capacity of the box is 14;% less than the requirement while height is correct. Find the

percent increase in area of base to meet the requirement if he had to increase the
length & breadth in equal amount?

Th HUAT o U GATS HTHN $I Zeal Torddy HTATH HA: 32x24x10§am6‘1ﬁm1m
megaﬂﬁ?%ﬁaﬁmnﬁ%ﬁﬁmg%wﬁﬁﬁﬁném2?r|21ﬁ::aia1é
3R ier$ At B FAT T F e B, & IUR & arAhel A fhaa gforra & gfE g§ e

2 ’
16—%
3
A
2 ’
16—%
3
15%
B
15%
2
14—%
7
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Correct Ans : A

Q.No: 176
2421711 The ratio of the C.P. and S.P. of an article is 16 : 17. What is the Gain percent?

TH I¥g & AN Ged U1 BT U 16 : 17 §, O U= o I |

5%
A
5%
5.5%
B
5.5%
6%
C
6%
6.25%
D
6.25%

Correct Ans : D

Q.No: 177
2421725 Animesh sold some articles at a Gain of 10%. He spent his total sale proceeds to purchase same articles. This time,

while selling them, he incurred a Loss of 10%. His Loss or Gain in the transaction was

HAAT F 10% 181 T TS IEIHT B 37| F6A 311 faeh & For Sl & G323 IhR & T GG 6| oAfthed 36 AR 37 a3t
P qUA W3 10% §1T g%, i Hg & FfeRra ot 71 g1 Ad H

1% Loss
A

1% gIfar

1% Gain
B

1% @meT

No Profit No loss
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o A gl

2% Loss

2% gifer

Correct Ans : A

Q.No: 178
2421751 \What sum of money must be given at simple interest of six months at 5% per annum in order to earn Rs. 150

interest?

F. 150 =TT 9Ied @l & TolT fhdel T93 &7 6 FElA & ToIT 5% =417 27 & \TENOT e4TS1 O ST §I9? _

Rs. 5000
A

¥. 5000

Rs. 6000
B

¥. 6000

Rs. 10000
C

¥. 10000

Rs. 15000
D

¥. 15000

Correct Ans : B

Q.No: 179
2421841 A certain amount of money is divided between A and B in the ratio of 5:6. If B gets Rs. 360, then the amount is—

DS YR A R B S S 5 : 6 F 3urd & faafa &) ol 81 afe B B 360 w. frd, Ot yRI © -

Rs.660

660 .

Rs.560

560 ¥.

Rs.680

680 .

Rs.580
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580 ¥.

Correct Ans : A

Q.No: 180
2421844 Three numbers are in the ratio of 5 : 7 : 12. If the sum of the first and the third is greater than the second by 50, then the sum of the

three numbers is-

TG 5 ¢ 7 : 12 F UId A § G I I vgat qur O TRemaht o1 A, gudt W ¥ 50 i g, d & e o A -

125
A

125

120
B

120

95
C

95

85
D

85

Correct Ans : B

Q.No: 181
2421926 Find the ratio in which rice at Rs. 7.20 a kg be mixed with rice at Rs. 5.70 a kg to produce a mixture worth Rs. 6.30 a kg.

I SUTT B A DI oE 7.20 39 Ul fhalom & a9d &1 5,70 ¥00 Ufd feammd a1ot aga & a1 e 6.30 ¥0 ufd feanm & frae 9
fRer0r Y QR febar o ThelT B

4:5

Correct Ans : B
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Q.No: 182
2421970 To cover a certain distance with a speed of 72 km/hr, Ayushi takes 18 hours. If she covers the same distance in 12

hours, what will be her speed?

ST S 72 Y. /b B IFAR A TA W R, U ARAT g A T A F 18 H FAT A ¢l I ag agr gl 12 AT W
GUELLAISICE S T K

72 km/h

72 &AL /ger

48 km/h

48 faT. /ger

108 km/h

108 feaT. /ger

180 km/h

180 feRaT. /eeT

Correct Ans : C

Q.No: 183
2422007 Satyam and Shivam can do a work in 10 & 15 days. Both together start the work. After 4 days Satyam left the work & rest work done by
Shivam. In how many days the total work completed.

T 3R RaT F19 H 10 9 15 0T & B IHd T SHI S Y TE IR 81 4 o ¢ a9 S 6 818 31 ¢ 3R 9 S & Rad gx1 d=ar g1 e
fot B o1 w1 FmTe ghm?

10 days
10 &=
9 days
o f&a

6 days
6 fam1

12 days

12 feq

Correct Ans : B
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Q.No: 184
Frefafaa o 9 \IReR” & Si9-a T § 2

A & v

B EERTIn]

c Igdife Tu™
D iU FHE

Correct Ans : C

Q.No: 185
ffared & § $9-91 Teg I ST BT W B Y T T e

A I
B SdTg
c SREC]
D I

Correct Ans : C

R e Sru
A CEl
B CE3)
C S
D 9T

Correct Ans : B

Q.No: 187 Sl /T A 3 RIE R e G o S G R o S, 98 s ad a6 3
A EE)

B Ao

c =

D I, HEH TH 3

Correct Ans : B

Q.No: 188
Frffed & § afre” &1 yafyarh wsg @ 87
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A I

B JUHR
c ITHR
D CIHE

Correct Ans : B

Q.No: 189 Prfiifed 3 @ Y- e g ¥ T onf i B T SR-
A 3rd - W

B RIET - IO

c 3afd - &8 o

D F qOE - 8

Correct Ans : D

QNI i 4 g ) A e e -
A TIHATYR

B TP IR

c st

D HT

Correct Ans : D

Q.No: 191

e faaafier @t Hm |
A 3@ty
B et
C St aett
D EC

Correct Ans : D

Q.No: 192
FAfafed & 9 wifci <1eg &1 994 Fifoe-
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B 10
c g™
D faemem

Correct Ans : C

Q:No: 193 TA® SN T B AR A TR TS, BT 6 B
A ggaaT

B foawm

c TP

D ki)

Correct Ans : C

Q.No: 194

WP GA T ST AM A B
A @
B Gk
c TR
D CH

Correct Ans : C

Q.No: 195

Hrgard o T gl 3
A w1 B
B Fai ot
c o Td Fal g
D Tg

Correct Ans : D

Q.No: 196
fF=fafea & ¥ Wa 91 &1 997 Sifv-

A JUfey g3 3R HETHT Wil TET

B fora 59 o =€ @ o A1 | W & 9
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S ST S 3T & Bremi

o greR TIY ATIR FHIAT I8 § |

Correct Ans : D

Q.No: 197

D

fefafed & ¥ g I &1 99 Hifore-

Tg U™ ? 71 % gua|

¥ F o3 HHATNG 3 VG fparl

SR TUT ST 3NX ST T T1Y U &

e 3 o | Ber fF HRA TP AW B

Correct Ans : B

Q.No: 198

D

refafad & § fra g &1 v &, gom, s 3nfe Hral &Y soad R aTdl RIsal & 1Y BT 82

faremfeeius fars

3aerul g

ArgafaR™ feg

THHARES e

Correct Ans : A

Q.No: 199

D

el # § GeTaRT "StR-3R 3 gl &1 3 3if 72

S A Pt foa

i 3mHE AT

Epriincacicie el

79 1 ifa e

Correct Ans : C

Q.No: 200

A

frefafed & & dieifa e 883 7 3@ SR g @1 Felt Fer” &1 @ onf g2

et ameHt AU g g1

SUAT SN 7 ITHT GO BT G @

b ATeH AER e 2
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D fopsit ave 9t et 7 gk

Correct Ans : B
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